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1. Botterman Farms has a barn and a silo like the ones shown below. The barn is 49 feet from the

ground to the top of the roof. The silo cylinder is 55 feet tall with a diameter of 16 feet and it does
not touch the barn. On the top of the silo cylinder is a hemispherical roof. The hay mow begins
15 feet from the ground and continues to the roof line. Grandpa Botterman is trying to sell
Botterman Farms and is looking to spruce-up the barn by putting new siding on it and putting new
shingles on the roof, as well as painting the silo. He also needs to know the volumes of the silo
(including the top), the volume of the hay mow and the volume of the entire barn.
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What is the surface area of the sides of the barn that Grandpa wants to re-side? TI36 £+ .

What is the surface area of the roof that Grandpa wants to re-shingle? 2150 F§*
What is the surface area of the silo (not the top) that Grandpa wants to paint? T30 £y 4
What is the volume of the silo (including the top hemisphere)? 3 B¢ |, E T Py’
What is the volume of the hay mow (barn above the mow line)? 5 3 OO0 {+ ’

Center the correct answer.

2. You own Mail-It-Easy. You are using a rectangular box to ship a framed painting for a customer. The box is 38
inches wide, 50 inches long, and 5.5 inches deep. To the nearest tenth of a square foot, what is the surface area of the
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[A]  16.6 in?

[B]  33.1in? P=17¢ SA=170(5.5) +l/%s) = 4769
[C] 72.6in? n=5.5

@ 4,768.0 in B = 1900

[E] 10,450.0 in?



Find the total surface area of an equilateral triangular prism if each edge of the prism is 10cm long?
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B]  25V3+300 cm? v 2
[C]  5043+100 cm? o110 P: 30
(D) 5043 +300em? W =10
[E] 10043 +300cm? S4 = 30010)4 23575 )

You make models of buildings for an architectural firm. The scale factor between the model of a building shaped like

a rectangular prism and the actual building is 1 to 25. What is the ratio of the surface area of the model to the surface
area of the actual building?

[A] 1to5

[B] 1t025 T
[C]  1t050

D] 1to125

[E]) 1t0625
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A cylinder whose height is 5 meters has a surface’of 3007 square meters. Find the radius of the cylinder. ’
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Kendra’s dining room is a rectangular prism 14 feet wide, 18 feet long and 9 feet high. She wants to paint

the dining room’s walls and ceiling and each pint of paint can cover 175 ft>. How many pints does she
need to buy?
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What is the total surface area of the hemisphere to the right?

[A] 2513.3 ft?

3769.9 f2

[C] 5026.5 ft

[D] 10,053.5 ft?
SA= 3arr?

[E] 15,079.6 fi
T~ 372077 37¢9.9

The Earth has a diameter of 12,742 km. If 70.8% of the Earth’s surface is covered by water, what is the
area of the Earth’s surface covered by land?
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28,817,201.8 km?

‘ 148,938,825.8 km?

297,877,651.6 km?

361,125,646.1 km?
D] 2 c T (51006 977/).9)
[E]  510,064,471.9 km
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*{{Wis planning to build a new sports arena in the shape of a regular hexagonal
pyramid. Each side of the base has a length of 100 feet and the pyramid has a height of 100 feet.
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A sphere has a great circle with an area of 201 feet?. Find the surface area and volume of the sphere.
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11.  The surface area of a regular pyramid is 276 cm?, the slant height measures 8 cm, and the area of \.
the base is 50 cm?®. Find the perimeter of the base.
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12.  The volume of a cone is 48n cm? and the height is 5 cm. Find the radius.
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